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Practice with Opportunity Cost Analysis
Materials
· 4 different types of candy, gum, or crackers, cookies, snacks etc.  (1 per student)
· Handout:  Practice with opportunity cost analysis  (1 per student) 

· Overhead transparencies or power points slides:  
· Visual 1:  Characteristics of Cost
· Visual 2:  Discussion Questions:  Choosing a Snack
· Handout:  Practice with Opportunity Cost
Set Up
· When participants return to the classroom from the final break of the afternoon, they must make a choice.  Prepare the choice situation so that it is ready as they come back into the room.
· Table 1:  2 types of candy or snacks, enough for half the class

· Table 2:  2 types of candy or snacks (different from the 2 options on table 1), enough for half the class.

· As participants re-enter the room, direct them to the tables, so that half the class confronts the choice on table 1 and half the choice on table 2.

· Instruct them that they may choose one of the items on the table or they may choose to take nothing.

· Ask participants to take their seats and tell them that the item they chose is theirs and they may eat it if they’d like to.
Procedures
1. Instruct participants to write down the opportunity cost of their individual choices. (Don’t skip this step.  If they write it down, they have to confront it during the discussion instead of mentally “modifying” it during the discussion.) Then, ask for volunteers to share their answers. 

2. Ask for a definition of opportunity cost (the next best or forgone alternative). Tell participants we are going to build on the common experience of choosing a snack to work with the concept of opportunity cost.

3. Review: (See overhead transparency.)
· Costs are to people.  All costs are costs to the decision-maker.

· Costs are subjective; individuals value costs differently.
· Opportunity costs may change and changes in costs affect people’s choices.

· Only actions have costs. “Things” have no cost independent of decisions about their use.

· All costs lie in the future. The anticipation of future consequences shapes people’s decisions.
4. Conduct a discussion with the large group:  (See overhead transparency.)
· What were the considered alternatives in your choice? 

· If someone made a different choice (different type of candy, or no candy) than you did, did one person make the right choice and one the wrong choice?

Suppose an ice cream bar had been offered as an alternative along with two types of candy.

· Would your opportunity cost have changed?  Why or why not?

· What is the opportunity cost to the person who chose the ice cream bar from among the 3 options? 

· What is the opportunity cost to someone who sticks with their original choice when the ice cream bar is included in the alternatives?
Suppose the “rules of the game” had been that “the class” could choose one snack, and the choice was Candy A.  

· Does that configuration of the situation change the opportunity cost? (If so, in what way and to whom?)

Suppose all 4 types of snack had been on one table and everyone could select from that table.

· Would that change your opportunity cost? Why?

· Is the availability of a greater number of alternatives is likely to increase or decrease opportunity costs?  Why?
5. Distribute the practice problem handout.  Give participants about 10-15 minutes to work on the problems in small groups.

6. Debrief with the large group.  (See overhead transparency and discussion guide below.)
VISUAL 1:   Characteristics of Cost

· Costs are to people.  All costs are costs to the decision-maker.

· Costs are subjective; individuals value costs differently.
· Opportunity costs may change and changes in costs affect people’s choices.
· Only actions have costs. “Things” have no costs independent of decisions about their use.
· All costs lie in the future. The anticipation of future consequences shapes people’s decisions.

VISUAL 2  

Discussion Questions:  Choosing A Snack
1. What were the considered alternatives in your choice? 

2. If someone made a different choice (different type of candy, or no candy) than you did, did one person make the right choice and one the wrong choice?

Suppose an ice cream bar had been offered as an alternative along with two types of candy.

3. Would your opportunity cost have changed?  Why or why not?

4. What is the opportunity cost to the person who chose the ice cream bar from among the 3 options? 

5. What is the opportunity cost to someone who sticks with their original choice when the ice cream bar is included in the alternatives?
Suppose the “rules of the game” had been that “the class” could choose one snack, and the choice was Candy A.  
6. Does that configuration of the situation change the opportunity cost? (If so, in what way and to whom?)
Suppose all 4 types of snack had been on one table and everyone could select from that table.
7. Would that change your opportunity cost? Why?

8. Is the availability of a greater number of alternatives is likely to increase or decrease opportunity costs?  Why?

HANDOUT:  Practice With Opportunity Cost
Directions:  Use the concept of opportunity cost to explain the following behaviors. Note that only those explanations that use the concept of opportunity cost meet the requirements of the directions for this assignment!
1. Why would a student choose not to study for an exam even though she knows from past experience that she performs better on exams when she has spent time studying?
2. Why would a teenager not ask to a dance the person he’d like to ask, even though he knows she does not have another date?  
3. Why would a hot dog vendor on a New York street corner lower the price of dogs late in the day?
4. Why do Americans today find themselves much more pressed for time than their great -grandparents were, despite the fact that we have so many machines and appliances that save us labor and time? 

5. Why would a poor family in a developing country choose to send a 10 year-old to work in a factory rather than to school, even though they know that being able to read and write would offer the child better options for the future?
6. Why do so many more inventions and innovations come from western countries where property rights are secure than from developing and communist countries where they are not?
7. Why are people in some parts of the world willing to work for $1 per day and in the U.S. employers often have trouble finding people willing to work minimum wage jobs?
Guide to Group Discussion Questions
1. What were the considered alternatives in your choice?  (Snack A or snack B or nothing).
2. If someone made a different choice (different type of candy, or no candy) than you did, did one person make the right choice and one the wrong choice? No, this is where personnel preference or subjective nature enters the choice making process.  People make the choice which presents the lowest opportunity costs to them, based on the considered alternatives and their personnel preferences.
Suppose an ice cream bar had been offered as an alternative along with two types of candy.

3. Would your opportunity cost have changed?  Why or why not? This answer is a bit tricky. Remember that opportunity cost is the “next best alternative,” so whatever is in third place in decision-maker’s list of preferences is not included in opportunity cost.  Thus, if someone would put the ice cream bar ahead of either type of candy in their ranking of the alternatives then the addition of the ice cream bar would have changed the opportunity cost.  However, if  the ice cream bar would not have been placed ahead of either type of candy then the opportunity cost would remain the same.
4. What is the opportunity cost to the person who chose the ice cream bar from among the 3 options?  If the choice is now the ice cream bar then the candy they had chosen before could be presumed to be the next best or forgone alternative in this example.
5. What is the opportunity cost to someone who sticks with their original choice when the ice cream bar is included in the alternatives? In this example we do not know the opportunity cost because we do not know if the ice cream bar ranks as the next best alternative, or is third on the individual’s list of preferences.  
Suppose the “rules of the game” had been that “the class” could choose one snack, and the choice was Candy A.  
6. Does that configuration of the situation change the opportunity cost? (If so, in what way and to whom?)  The opportunity cost would still be the “next best alternative”, but now the alternatives have changed:  take candy A or take nothing. People who would have chosen Candy A or “nothing” even when Candy B was available perceive little change in the situation. If anything, the “candy A people” may see their opportunity cost as lowered.  However, an alternative has been eliminated for the people who would have chosen Candy B; they no longer have that option. They’ve been “deprived” of their highest-valued alternative by the group decision.  Reducing alternatives may be one strategy for dealing with scarcity, but we should be aware of that such decisions impose burdens on individuals whose most highly-valued alternatives are eliminated.
Suppose all 4 types of snack had been on one table and everyone could select from that table.
7. Would that change your opportunity cost? Why? If the additional two alternatives change your rank ordering of the first two types of candy, then the answer to this question is yes because the “next best or foregone alternative” changes.
8. Is the availability of a greater number of alternatives is likely to increase or decrease opportunity costs?  Why?  Increasing the number of alternatives tends to increase opportunity costs. If the decision-maker doesn’t value the new alternatives at all, then his choice and opportunity cost don’t change.  If, however, a new alternative is more highly-valued, then he must give up his former “most highly valued” alternative.  One way to look at economic growth is that we want to make people’s opportunity costs higher in the sense of offering them more and more highly-valued alternatives – and therefore, more highly valued “next-best” alternatives.  
Guide to Practice Handout
1. Why would a student would choose not to study for an exam even though she knows from past experience that she performs better on exams when she has spent time studying?  A student will stop studying whenever she believes that the next best alternative use of the time has a higher value than the value of a better score on the exam.
2. Why would a teenager not ask to a dance the person he’d like to ask, even though he knows she does not have another date?  The alternative of  risking the possibility of being turned down represents a higher perceived opportunity cost than not asking.
3. Why would a hot dog vendor on a New York street corner lower the price of dogs late in the day? iIf he sells a dog for a low price early in the day, he gives up the opportunity to sell it for a higher price.  The opportunity cost of selling is giving up a perceived higher valued sale.  Later in the day when there are few potential customers on the street, selling at a low price would not be perceived to be giving up the same higher valued sale. In fact the hot dog may be worthless if the vendor must take it home and throw it away, so the opportunity cost of not selling it has risen.
4. Why do Americans today find themselves much more pressed for time than their great -grandparents were, despite the fact that we have so many machines and appliances that save us labor and time? As the number of valuable alternative uses of our time increase so does the opportunity cost of using time to pursue one endeavor or activity instead of another.  We feel  more pressed for time because the opportunity cost of any particular use of our time has increased.
5. Why would a poor family in a developing country chose to send a 10 year old to work in a factory rather than to school, even though they know that being able to read and write would offer the child better options for the future?  Because of the alternatives the family faces in their poverty, the opportunity cost of sending the boy to school is too high to bear – despite its obvious benefits.  If they send the boy to school he must give up the opportunity to work and earn extra money for the family.  That extra money could be the difference of life or death to an infant brother or sister who needs food – or to the child himself.  Students often assume that poor people don’t know the value of things like education; problems like this one are a good opportunity to help them recognize the importance of the severely limited alternatives available to the world’s poor..
6. What do so many more inventions and innovations come from western countries where property rights are secure than from developing and communist countries where they are not?  The lack of clear property rights lowers the perceived value of any investment of time or money because of the uncertainty of being able to claim ownership or rewards from the innovation.  Thus when the alternative of using time, effort and money to invest in the development of new ideas and products is considered against the alternative of keeping the time, effort and money, the opportunity cost of investment in innovation is more likely to be too high in nations where property rights are not secure..
7. Why are people in some parts of the world willing to work for $1 per day and in the U.S. employers often have trouble finding people willing to work minimum wage jobs?  People in different parts of the world have different opportunity costs.  In this instance we can presume from the people’s actions that those willing to work for $1 per day do not have any alternatives worth more than that to them and those not willing to work for minimum wage have at least one alternative that is worth more than the minimum wage.  For the most part people in the U.S. have many more alternatives available to them so their opportunity costs are generally higher than for those in developing countries.
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